
                                                                                  version 8, 03222022sb         
 

1 
 

FHWA BUY AMERICA COMPLIANT ITMES, TRENTON CATALOG                                                                                    
 
Valid from: 01-01-2022 TO 12-31-2022 

 
To Whom It May Concern: 
 
The MacLean Power Systems products listed below, meet the FHWA Buy America requirement. All manufacturing processes for these steel 
and iron materials, including the application of coatings (unless granted a waiver pursuant to 23 CFR 635.410) has occurred in the United 
States.  

 
 
 

 
 
 
 
 

1 J8808US F105547 BOLT-MACHINE-5/8X8

2 J8810US F105548 BOLT-MACHINE-5/8X10

3 J8812US F105549 BOLT-MACHINE-5/8X12

4 J8814US F105550 BOLT-MACHINE-5/8X14

5 J8816US F105551 BOLT-MACHINE-5/8X16

6 J8818US F105552 BOLT-MACHINE-5/8X18

8 J8908US F105556 BOLT-MACHINE-3/4X8

9 J8910US F105557 BOLT-MACHINE-3/4X10

10 J8912US F105558 BOLT-MACHINE-3/4X12

11 J8914US F105559 BOLT-MACHINE-3/4X14

12 J8916US F105560 BOLT-MACHINE-3/4X16

13 J8918US F105561 BOLT-MACHINE-3/4X18

14 JCA6645A01US F105603 BOLT-MACH-5/8X8

15 JCA6645A02US F105604 BOLT-MACH-5/8X10

16 JCA6645A03US F105605 BOLT-MACH-5/8X12

17 JCA6645A04US F105606 BOLT-MACH-5/8X14

18 JCA6645A05US F105607 BOLT-MACH-5/8X16

19 JCA6645A06US F105608 BOLT-MACH-5/8X18

20 JCA6645A10US F105612 BOLT-MACH-3/4X10

21 JCA6645A11US F105613 BOLT-MACH-3/4X12

22 JCA6645A12US F105614 BOLT-MACH-3/4X14

23 JCA6645A13US F105615 BOLT-MACH-3/4X16

24 JCA6645A14US F105616 BOLT-MACH-3/4X18

25 J8051US F105617 BOLT-THMBL EYE 5/8X10

26 J8052US F105618 BOLT-THMBL EYE 5/8X12

27 J8053US F105619 BOLT-THMBL EYE 5/8X14

28 J8054US F105620 BOLT-THMBL EYE 5/8X16

29 J8055US F105621 BOLT-THMBL EYE 5/8X18

30 J8062US F105622 BOLT-THMBL EYE-3/4X12

31 J8063US F105623 BOLT-THMBL EYE-3/4X14



                                                                                  version 8, 03222022sb         
 

2 
 

 
 
 

 
 
 
 

 

 

 

 

32 J9406US F105563 BOLT-OVAL EYE 5/8X6

33 J9408US F105564 BOLT-OVAL EYE 5/8X8

34 J9410US F105565 BOLT-OVAL EYE 5/8X10

35 J9412US F105566 BOLT-OVAL EYE 5/8X12

36 J9414US F105567 BOLT-OVAL EYE 5/8X14

37 J9416US F105568 BOLT-OVAL EYE 5/8X16

38 J9418US F105569 BOLT-OVAL EYE 5/8X18

39 J9420US F105570 BOLT-OVAL EYE 5/8X20

40 J8862US F105625 BOLT-DBL ARM-5/8X12

41 J8864US F105626 BOLT-DBL ARM-5/8X14

42 J8866US F105627 BOLT-DBL ARM-5/8X16

43 J8868US F105628 BOLT-DBL ARM-5/8X18

44 J8870US F105629 BOLT-DBL ARM-5/8X20

45 J8872US F105630 BOLT-DBL ARM-5/8X22

46 J8874US F105631 BOLT-DBL ARM-5/8X24

47 J8876US F105632 BOLT-DBL ARM-5/8X26

48 J8877US F105633 BOLT-DBL ARM-5/8X28

49 J8878US F105634 BOLT-DBL ARM-5/8X30

51 J8882US F105638 BOLT-DBL ARM-3/4X12

52 J8884US F105640 BOLT-DBL ARM-3/4X14

53 J8886US F105641 BOLT-DBL ARM-3/4X16

54 J8888US F105642 BOLT-DBL ARM-3/4X18

55 J8890US F105643 BOLT-DBL ARM-3/4X20

56 J8892US F105644 BOLT-DBL ARM-3/4X22

57 J8894US F105645 BOLT-DBL ARM-3/4X24

58 J8896US F105646 BOLT-DBL ARM 3/4X26

59 J1074US F105540 WASHER-SQ-2X1/8

60 J1075US F105541 WASHER-SQ-2 1/4 X 3/16, 5/8 bolt

61 J1076US F105542 WASHER-SQ-2 1/4 X 3/16, 3/4 bolt

62 J1088US F105581 WASHER-ROUND-1 3/4 ODX11/16

63 J1089US F105582 WASHER-ROUND-2 ODX13/16

64 J6822US F105586 WASHER-SQ CURVED 2 1/2 X 3/16

65 J6823US F105587 WASHER-SQ CURVED-3X1/4



                                                                                  version 8, 03222022sb         
 

3 
 

 

 

 

 

 

 

 

 

66 J8563US F105575 NUT-SQ-5/8

67 J8564US F105576 NUT-SQ-3/4

68 F86L60T16US F731426 PIPE X 60 LE

69 F86L60T20US F731427 PIPE X 60 LE

70 F86L60T1416US F731428 PIPE X 60 LE

71 F86M60T16US F731432 PIPE X 60 LE

72 F86M60T20US F731433 PIPE X 60 LE

73 F86M60T1416US F731434 PIPE X 60 LE

74 F86LE60US F731429 PIPE EXTENSION X 5' LENGTH

75 F86LE84US F731430 PIPE EXTENSION X 7' LENGTH

76 F86LE120US F731431 PIPE EXTENSION X 10' LENGTH

77 F86ME60US F731435 PIPE EXTENSION X 5' LENGTH

78 F86ME84US F731436 PIPE EXTENSION X 7' LENGTH

79 F86ME120US F731437 PIPE EXTENSION X 10' LENGTH

80 NCB121204R86US F731438 NEW CONSTRUCTION BRACKET FOR R86 PILES

81 D6710US F731344 ANC MH D2 84X10

82 D6720US F731345 ANC MH D2 84X8-10

83 D6730US F731346 ANC MH D2 84X8-10-12

84 D6733US F731403 EXTBAR D2 1.25X42

85 D6735US F731404 EXTBAR D2 1.25X60

86 D6737US F731405 EXTBAR D2 25X84

87 D6632US F731335 ANC MH D6 36X8-10

88 D6634US F731337 ANC MH D6 42X10-12

89 D6636US F731339 ANC MH D6 66X8-10-12

90 D6637US F731341 ANC MH D6 84X10-12

91 D6638US F731343 ANC MH D6 126X10-141684

92 D6620UCUS F731397 EXTBAR D6 1.2X60X12 HLX

93 D6620UDUS F731398 EXT BAR D6 5X60X14 HLX

94 D6616UUS F731391 EXTBAR D6 1.5X42

95 D6620UUS F731395 EXTBAR D6 1.5X60

96 D6625UUS F731399 EXTBAR D6 1.5X84

97 D6630UUS F731401 EXTBAR D6 1.5X120



                                                                                  version 8, 03222022sb         
 

4 
 

 

 

 

98 D66327US F731336 ANC MH D7 60X8-10

99 D66347US F731338 ANC MH D7 60X8-12

100 D66367US F731340 ANC MH D7 84X8-10-12

101 D66377US F731342 ANC MH D7 84X10-12

102 D6616UC7US F731393 EXTBAR D7 1.5X42X12 HLX

103 D6616UD7US F731394 EXTBAR D7 1.5X42X14 HLX

104 D6616U7US F731392 EXTBAR D7 1.5X42

105 D6620U7US F731396 EXTBAR D7 1.5X60

106 D6625U7US F731400 EXTBAR D7 1.5X84

107 D6630U7US F731402 EXTBAR D7 1.5X120

108 D17532US F731330 ANC MH D10 60X8-10

109 D17536US F731332 ANC MH D10 84X8-10

110 D17538US F731334 ANC MH D10 120X10

111 D28010011US F731389 EXTBAR W/HLX 1-3/4X60

112 D17516US F731385 EXTBAR D10 1.75X42

113 D17520US F731386 EXTBAR D10 1.75X60

114 D17525US F731387 EXTBAR D10 1.75X84

115 D17530US F731338 EXTBAR D10 1.75X12

116 J6524WCAUS F731362 JS-D6524

117 J6526WCAUS F731363 JS-D6526US

118 J6528WCAUS F731364 GALV.HELIX ANCHOR 1X66

119 J6530WCAUS F731365 10 GALV.HELIX ANCHOR 1 1/4X66

120 J6550WCAUS F731366 NO WRENCH SCREW ANC 1-1/4X96

121 J6584WCAUS F731367 ANC NW TE 1-1/4X96X1

122 J6585WCAUS F731368 JS-D6555US

123 D62312US F731305 ANC.ROD PISA 5/8X42

124 D62US F731304 ANC.ROD PISA 5/8X8

125 D75312US F731303 ANC.ROD PH 3/4 X 48

126 D75US F731302 ANC.ROD PH 3/4 X 84

127 D100312US F731301 ANC.ROD PH 1 X 42

128 D100US F731300 ANC.ROD PH 1 X 84

129 TEN5US F731439 EYENUT TRIPLE 5/8

130 TEN8US F731440 EYENUT TRIPLE 1"

131 D10990012US F731380 EXT.ROD TE 3/4X24

132 D10990006US F731379 EXT.ROD TE 1X18

133 D40236US F731381 EXT.ROD TE 1-1/4X3

134 T6606US F731441 GUY ATTACH TRIPLE EYE 1-1/2

135 D28010002US F731390 GUY ATT. TE 1-3/4



                                                                                  version 8, 03222022sb         
 

5 
 

 

 

 

 

 

136 D826US F731317 ANC PISA DD6 5/8X8

137 D846US F731318 ANC PISA DD6 1X8

138 D1026US F731306 ANC PISA DD6 5/8X1

139 D1046US F731307 ANC PISA DD6 1X10

140 D1126US F731313 ANC PISA DD6 5/8X12

141 D1146US F731315 ANC PISA D7 1X12

142 D1346US F731316 ANC PISA DD6 1X14

143 D8426US F731319 ANC TAND DD6 1X8-8

144 D10426US F731308 ANC TAND DD6 28X10

145 D182US F731320 ANC PISA D6 8X8

146 D184US F731321 ANC PISA D6 1X8

147 D1104US F731309 ANC PISA D6 1X10

148 D1114US F731311 ANC PISA D6 1X12

149 D1134US F731314 ANC PISA D6 1X14

150 D284US F731326 ANC TAND D6 28X8-8

151 D2104US F731323 ANC TAND D6 28X10

152 D1847US F731322 ANC PISA D7 1X8

153 D11047US F731310 ANC PISA D7 1X10

154 D11147US F731312 ANC PISA D7 1X12

155 D2447US F731325 ANC TAND D7 28X4-4

156 D2847US F731327 ANC TAND D7 28X8-8

157 D21047US F731324 ANC TAND D7 28X10-10

158 20210UTIIUS F731442 MR-3-5/8

159 20199UTIIUS F731443 MR-2-1

160 20036UTIIUS F731444 MR-1-1

161 20229UTIIUS F731445 MR-SR-1

162 D0660BBB8148VUS F731369 FND. ANC 6X60-14VBC

163 D0672BBB8148VUS F731370 FND. ANC 6X72 -VBC

164 D0684BBB8148VUS F731371 FND. ANC 6X84-14VBC

165 D0860BBB1178VUS F731372 FND. ANC 8X60-17VBC

166 D08072BBB1178VUS F731373 FND. ANC 8X72-VBC

167 D0884BBB1178VUS F731374 FNC. ANC 8X84-17VBC

168 D1060BBB1178VUS F731375 FND. ANC 10X60-17VBC

169 D1072BBB1178VUS F731376 FNC. ANC 10X72-17VBC

170 D1084BBB1178VUS F731377 FNC. ANC 10X84-17VBC

171 D1096BBB1178VUS F731378 FNC. ANC 10X96-17VBC



                                                                                  version 8, 03222022sb         
 

6 
 

 

 

 
 
 
 
 
 
 
___________________________________________________________________________________ 

Signature & Date 

 

 

 

____________________________________________________________________________________ 

Printed Name & Title 

 
This information serves as MacLean-Power Systems current affirmation that the items listed above, for the dates specified above, are compliant with the Federal Highway 

Administration (FHWA) Buy America requirement 23 USC §313 Buy America; 23 CFR §635.410. Due to market demand, volatile fluctuations in commodity or raw material 

processing and deviations in supplier material quality performance, MacLean Power Systems reserves the right to change material suppliers at any time and at our discretion 

without notification to our distributors and customers. MacLean Power Systems disclaims any intention, obligation or use of this information in support of the recipients use for 

customs, export, tax or financial reasons of any kind, and in no event will MacLean Power Systems be held liable for providing this information if the recipient uses this 

information for any direct or indirect use that results in collateral or incidental damages, loss of profits or revenue or economic or consequential damages of any kind. If the 

recipient requires specific details for export or shipping use please contact MacLean Power Systems Customer service 

172 J7415US F731412 D5315

173 J7416US F731413 D5316

174 J7417US F731414 D5317

175 J7418US F731415 ROD ANCHOR THIMBLEYE 5/8" X 8'

176 J7428US F731416 ROD ANCHOR THIMBLEYE 3/4" X 8'

177 J7516US F731417 JS-D5346

178 J7517US F731418 JS-D5347

179 J7518US F731419 JS-D5348

180 J7527US F731420 ROD ANCHOR TWINEYE 3/4" X 7'

181 J7528US F731421 ROD ANCHOR TWINEYE 3/4" X 8'

182 J7529US F731422 ROD ANCHOR TWINEYE 3/4" X 9'

183 J7530US F731423 ROD ANCHOR TWINEYE 3/4" X 10'

184 J7538US F731424 ROD ANCHOR TWINEYE 1" X 8'

185 J7540US F731425 JS-D5370

186 J7327US F731406 ROD ANCHOR TRIPLEYE 3/4" X 7'

187 J7328US F731407 ROD ANCHOR TRIPLEYE 3/4" X 8'

188 J7329US F731408 ROD ANCHOR TRIPLEYE 3/4" X 9'

189 J7338US F731409 JS-D7568

190 J7340US F731410 ROD ANCHOR TRIPLEYE 1" X 10'

191 J7350US F731411 ROD ANCHOR TRIPLEYE 1-1/4" X 10'

March 23rd, 2022 

Ron Kmiecik, Director of Product Management 


